SOy T2 - Y = T B

¢ Kl “TEN” SERVICE MANUAL

D00 G 00 G 00V 00 G 00O 00O 000G 00

VO P00 G 00 B 00 G 00 G 00 G 00 G 00O 00 G 00 S ©

GRAPHIC EQUALIZER
Model QE-231EX1

. |
5 1
COMPOSITION
— Graphictoalizend Unit M OES 2 Sl msvsnesuesnsartosmssattonroshs s o e smksuvsms 3o 1
__Bracket BN A BT I o o savim s e o abvssshmssssnss wokah oM cancvmensns 1
A g
GRAPHIC EQUALIZER —Bracket o o o e ot s L TG N SR e s . 1
QE-231EX1 i_|nsta”ation SCIEW  teeesesssscsstcsssssssssssasssnnasssssssssssssssssssssstasasasssssssstssnsacns 1 set
—Lead assembly ENEEVNAIES G716 Lo e s o oD se b e e o e 1
—Lead assembly BINSEWWASAG sns o2 miessssisssif o ittt daset s s b ae b e e mi e 1
A g
soresessseceneses FUJITSU TEN LIMITED owoe



SPECIFICATIONS

RBATING INPU V@ SIAGE. et cc i et s stcas s 100 mV
INPUT IMBPED AN CE s et e e o o Approx. 10k ohm
RATING OUTPUT VO EAGE . i 50 mV
LOAD IMPEDANGE B ettt e i St o 10k~20k ohm
NI - s e e ot o o i NS S S L1 —6 + 3 dB (1 kHz, at rating input)
FREQUENCY RESPONSE «srevsernereiiiinniiunininnnns 60 Hz: —3 + 3 dB (Refer. 1 kHz2)

20 kHz: 0 4+ 3 dB (Refer. 1 kH2)
SIGNAL TO NOISE RATIO -ereverenrereeneuiruninnennnn. 66 dB or better (1 kHz, input short circuit)
ADJUSTABLE RANGE OF TONE CONTROL :----- SRl Z an & ClB

R (60 Hz ~ 16 kH2)

ADJUSTABLE RANGE OF FADER CONTROL:+-+:- 50 dB or better (Refer. center)
(FRONT TO REAR RATIO)

POWER INPUT eeeeeetteesettttisionireninntereesnnecessnnnnns 12-Volt car battery, negative terminal to ground
Voltage:reeserererrraneeiiniiiiiiiniiiiinininiii, a2 ViDe
CUITTE Mt e e st ne e sl I N 0.28 ampere (Include current of lamp)
SEMICONDUCTOR roeeeervereerssseeniiiiiieeiiiniininnen, 5 ICs, 4 Transistors, 8 FETs, 1 Diode, 9 LEDs
DIMENSIONS -seteoe o iuete et e se i anine sa s ao b oson 150(W)XB0(H) X 112(D)mm (7-29407, 131457, 4-184,7)
WETGHIT +5vsie sv s seniainiesiiis sl loaolasastoniollalssfielssisiers s s waisias st Approx. 0.8 kg

RED---- RIGHT
WHT--- LEFT
1] IJ 7 1
/s [CNEOUT] "— FRONT
/ LINEOUT _T@‘T

7 LINE OUT 1:®J§9|E'AR
LINEOUT ‘E@HJ
= / e N | Ji
— =l
LINE IN
frsescnoa)
N = (|
e [
1

g POWER SUPPLY

ENPTY
(NO TERMINAL )

\

Fig. 1 (C23420231)

COMBINATIONS SPEAKER

POWER AMP ‘[(] s
UM-114,
COMBINATION UNIT UM-116,
QM-251 R
CE-4431__
CE 4432 GRAPHIC EQUALIZER
CE-4434
or ——_——5—231
CM-6430)
CM-6530 | .
POWER AMP
UM-114
UmM-1160"
QM- 251 R

Fig. 2 (C32420231)

_2_



BLOCK DIAGRAM

ANT

CE-4431A (CASSETTE DECK WITH ELECTRONIC TUNING TUNER)

FM T8
FM vco

aM TB

e

0

J5
(PIN VIEW)

[SER\/ISE MANUAL NO. SM 505
RF AMP ~ CONV. IF AMP. IF AMP ~ DET. NOISE BLANKER MPX TONE MUTE DUAL POWER AMP. NO CONECTION
; o e /
A | i
FM FRONT - END oy ‘J |
@ 1c 103 }’ 8
Q1~4a " i I
1l 1 l_
= Q352 }/;V 73
} T ! } PN VIEW)
i >
HEAD
RF AMP. ~ [F AMF SRl EQ. AMP DOLBY NR MUTE CONT.
l Q806,807
LA M M V. REGULATOR
AM TUNER
1c 201 —_
%HMOTQR l
cs AR
POWER SW.
Swi4
swi
6v_[V REGULATOR | 2 AcC 58 28
10805

CONTROLLER 1C80! ;
so 2
MUT
a
am veo ¢
s 9
S e
LR . > =
| os02,804 [ g KOMK3  D1~05

LPF

[ ere scacer
1c802

i

Q801,803

L
=——sxix2
=

4.5MHz

KEY MATRIX
MSD/MSU (SW9-4,5)
ME (SW7)

M1~ M6 (SW1~6)
AUTO SEEK (SW9-3)

auTo AT 1 i

el 18!

BACK _UP.
20N, @
‘ (PIN VIEWN TO AcC
§o)
SEGMENT = T0 BACK U
DRIVER DISPLAY UNIT
heos C> ’> LiNE OUTRUT
TF 96
DIGIT DRIVER P
1C804

%
L

= RAPHI A
SERVISE _MANUAL _NO. SM-525

NO CONECTION
Loch

0
0

G
(PIN VEW)

UM-114 (POWER AMP)

SERVISE MANUAL NO. SM-4§
POWER AMP

FRONT SPEAKER (4 ohm)

L-ch
21w

R-ch
21w

e

JS@ O

UM-114 (POWER AMP)

SERVISE MANUAL NO. SM-4
POWER AMP

REAR SPEAKER (4 ohm)

L-ch
21w

A1

&
@ (PIN VIEW
¢

TO AC

Fig. 5 (C12420231)

J9

-
ACC sw

BATTERY
12v

H EAESLF @CC
onre [ RS
En
Cangn

| | T

(1XA1€2-30]



EXPLODED VIEW

.
die
Fig. 6 (C28420231)

— 8 —



REPLACEMENT PARTS LIST

Note :

Main replacement parts are marked Q in the
remarks column.

(QE-231EX1)

Sy(rpig?IBI\;o. Stock No. Description Remark
CAPACITOR
@ 1~6,.43, 44 RN-E CE-M1R0V50-32 1 pF 50V electrolytic
@ 7.8 RN-E CY-M2R2V16-M1 22 iE 16V tantalum
€.9,.10, 13, 14 RN-ECB-DBCI104B TR 12V ceramic
CclL;.12 RN-E CY-M1ROV16-Ml1 1. pF 16V tantalum
G52 16 RN-E CY-MR68V16-M1 .68 pF 16V tantalum
©Ci7,.18,.25,.26 RN-ECB-DOX223E 102200 25V ceramic
C19, 20 RN-ECY-MR33V16-M1 183 uF 16V tantalum
21,22, 31, 32 RN-ECB-D0O X333E .033 pF 25V ceramic
€23, 24 RN-ECY-MR15V16-M1 MBNiE 16V tantalum
©27,.28 RN-E CF-R683V50 .068 pF 50V mylar
€29, 30, 39, 40 RN-E CF-R682V50 6800 pF 50V mylar {
E33,34 RN-E CF-R472V50 4700 pF 50V mylar |
©35,.36 RN-E CB-DOXI53E .015 pF 25V ceramic \
€37.238 RN-E CF-R152V50 15600 pF 50V mylar
C41, 42, 48 RN-E CK-DB221KY 220 pF 50V ceramic
C45 RN-E CE-M101V10-31 100 pF 10V - electrolytic
C46 RN-E C E-M220V16-32 220 1F 16V electrolytic
C47 RN-E CE-M102V16-9 1000 pF 16V electrolytic
C49~52 RN-E CE-M2R2V50-32 2020k 50V electrolytic
C53 RN=E C1=B271-2 270 pF filter capacitor
€55 RN-E C E-M221V16-41 220 pF 16V electrolytic |
C60 RN-E C E-M221V10-41 220 pF 10V electrolytic |
RESISTORS
RSé”"lSlé 37, 38 RN-ERD-AE223] B 22k ohm 5% W carbon
R.5,. 16 RN-ERD-AE83] B 82k ohm 5% LW carbon
R 7, 8, 79~82
?(1)1'1 9?(’);101 RN-ERD-AE102] B 1k ohm 5% LW carbon
R 9, 10, 102 RN-ERD-AE222] B 2.2k ohm 5% W carbon
R11, 12, 73~78 RN-ERD-AE272] B 2.7k ohm 5% AN carbon
R13, 14 RN-ERD-AE472] B 4.7k ohm 5% AW carbon
R15,16,23,24,29
30,35,36,41,42
47,48,53,54,59 RN-ERD-AE562] B 5.6k ohm 5% aW carbon
60,65,66,71,72
94~97
R17, 18 RN-ERD-AEI54] B 150k ohm 5% AL carbon
R19,.20,°31,°32 RN-ERD-AE473] B 47k ohm 5% W carbon
Ko RN-ERD-AES561] B 560 ohm 5% LW Em
R25, 26, 49, 50 RN-ERD-AE2/3] B 27k ohm 5% YW carbon
R27, 28, 39, 40
é?’ ég, gé e5;421 RN-ERD-AE471] B 470 ohm 5% W carbon
R43, 44, 87~90 RN-ERD-AEI18]B 18k ohm 5% YW carbon
R61, 62 RN-ERD-AE393]B 39k ohm 5% YW carbon
R \RN-ERD-AE104] B 100k ohm 5% YW ot
R92, 93 RN-ERD-AEI103] B 10k ohm 5% W carbon
R103 RN-ERD-AE39%] B 39 ohm 5% %W carbon
R108~116 RN-ERD-AES821] B 820 ohm 5% LW carbon
R125 RN-ERD-AEI21] B 120 ohm 5% LW carbon
VARIABLE RESISTORS
RV1~RVI18 RN-ERV-9IN2-142 |20k ohm Equalizer carbon O
RV19, 20 RN-E RV-9N2-143 | 10k ohm Fader carbon @)
ELECTRICAL
Dl RN-EDT-RDI3E B2 Zener Diode, T3V [e)
D10~18 RN-EDP-LN351GCPP Equalizer Light emitting diode ©)
D19, 20 RN-EDP-GL-9ND2 Fader Light emitting diode )
L€ 15 RN-E T C-UPC4A4IC Ope-amp linear-monolithic IC @
Q1 2 RN-EVS-2SC644-R S Silicon transistor @)
Q3 RN-EVS-2SC1317-QR Silicon transistor 0
Q4 RN-EVS-2SC1684-QR Silicon transistor 0
L@ 5=12 RN-EVF-2S J40-E FET @)




Symbol No.

(Fig. 3) Stock No. Description Remark
MISCELLANEQUS ELECTRICAL
J1-J4-]5-P4 RN-EWP-1075 RCA cord and power, input
JI% JE J“gE_;Jg RN-EW J-3426 RCA cord, output
Ll RN-E L L-328 Choke, 2.4 mH
P1 RN-E JU-S04V-563 4P connector (WHT)
P2 RN-E JU-S04V-563L 4P connector (BLU)
P 3 RN-E JU-S04V-563B 4P connector (BLK)
BIL 1,52 RN-E PM-1052 Lamp
S1 RN-E SB-2L2-160 Push switch, front ©
S RN-E S B-21.2-162 Push switch, rear (@)
Igll;jlsg l\é% Stock No. Description Q'ty Remark
MECHANICAL
1 RN-MAD-1194 Cover, top 1
2 RN-MAD-1162B Cover 1
3 RN-MD P-1285A Escutcheon 1 e)
4 RN-MY B-1381 Button (Equalizer) 9 O
5 RN-MY B-1382 Button (Switch) 2 (@)
6 RN-MY B-1383 Button (Fader) 1 @)
8 RN-ML C-1114A Holder 1
9 RN-MHE-1309 Holder 1
10 RN-MHE-1301 Holder 1
11 RN-MP C-1459A PC Board 1
13 RN-MET-242 Special screw, 3x4mm 2
14 F6-SBD-2x38S Screw, 2x3mm, with @ 6
F6-SBD-2x%x2.5S Screw, 2x2.5mm 6
15 F6-SBD-2x4S Screw, 2x4mm 1
16 F6-SBD-3X6S Screw, 3x6mm 3
17 F6-SSA-3x48 Flat screw, 3x4mm 2
18 F6-SSA-3X6S-M-ZN2A Flat screw, 3x6mm 4
19 F6-SNATP2-2%6 Screw, 2x6mm 2
20 F6-WK-2S Washer 6
= RN-M S E-1197 Spacer, for D19, 20 2
Stock No. Description Q'ty Remark

INSTALLATION SCREW

RN-MBW-C5x8S-M-Z N2A

Bolt, 5x8mm

RN-MTN-A6x16

Screw, 6x16mm

5

1

RN-MET-144 Special screw 3

F6-N1-6S Nut, 6mm 3

F6-WM-6S Washer, 6mm 3
NOTE: Specifications subject to change without prior notice.




SCHEMATIC

MPC—1_459A( 1/4) 3 MPC-1459A(2/4) v
@1 I 60Hz 125Hz 250Hz 500Hz 1KHz 2KHz 4KHz 8KHz foie
| I 8 i’;-/: 0x ‘L./} ox bt sxl o ox| -1 =l -2 o] -1 oyl . 2501684 25440-€
|95 ma wql O WE wEL e sl By
L | ! [ I l ! i 0
Al 'r fis B : || | I I
GRAPHIC - , oy || T n " i - |
BUFFER AMP. EQUALIZER &) o I o e o @ | ® | ® fcs it
Bols y - - } Y —-
) 5 RI3 4.7K I ! | | IC3-1 I 1C4-2
o I [ 5 ! (= |
E %‘v W D d %ﬂg 81 & gl L g'Lé 4 &)
¢ s B i @4 ot 5[ of & 3| = ﬁ ' 5] Blwr] >@48] + !
NPUT oo w484 "@ o3 e y l il 5 : °| oG ° g ' :
e x %] oaa IC1-4 | 1 {"Ig R33 3 | RST L VPCATAIC
ol B N 018 ; T R W 0 oly 3 0 gi% ! 3
» l S e &3a : N3 : efe 233 T 038R : ] 7
3 | ! . ] 14
L-ci 4 ! s gszc 3 ! 3 | ke : 8 : er0 €19 \
To Ji o e Ici-3 'elg 560 \ 3
RIS, RI2 <D | S s ]
c4 27K - o | ®} ] 3 2
§ o i o= ; giﬂl':;‘ © ® .g-] ’J:e’ 2 ::1 2: £ ]
ef Fa R14 47K | 8 ﬂ% = E © o
Rie | =l 1ca-3 ©
slr b 150K | | [ | 1 |
o o + % ™
et ? Z] 8| 8 | é @ | ®
- L 6 T
. o [ ! ! ! | e = —> | +B LINE
I B CO G B an E 1 : - = |SIGNAL LINE(DEFEAT)
o | ¥, B £y | Eare | g - =1 2o . =====|SIGNAL LINE(GRAPHIC)
i
- ICH5 3 249 = " ©
E—— e UPCATHIC 238 238 gg z:8 §§ §§ Eﬁ §§ §§
X
S 2% =¥a 5%~ 2¥%. iy, £ o, S B Q512
2 pi o = ! "2s040-E
Ex|a I 9'2/,] H=IOV_L=0V
= = : LFRONT || == (:_E D-S
e y VEL | CONDUCTIVE
=) " SEREER HGH LEVEL [NOT CONDUCTIVE
] = ! | =
1 TOTK:’ f ! ¥¥¥ﬁ?§::h_+REAR ,I as
1 ® o 3B —— ll' ry Y Rov FRON
, oS R | A e | ook S e i 00T JIWHT) WHT(LEFT)
s 6006 o . B el e OV?
- R118 . 01 |R-ch
iy e 0 S | g5
GE LINE 2 o
s U 2.4m 1 ;_Ez e e I = LINE INPUT
! i e p Lo PP Y Ry mpp -. 3 3
e ? me (R | e
(0 ] ~ 100K G o I—O4 L-ch Jisea) JS
2T x| x| x = v S 52 RED(RIGHT)
~1 9} 2} © & =, S— R120 27K 1K
Bale e 2 IMI,P_C-1459N4/4) DEFEAT LiNE ook S 98 | J2(BLU) WHT(LEFT)
™ vy '7 3 51/,T| &5 H Pl WHT © J6
;1A || S oer Bse ik rizy = I oo TEL LINE OUTPUT
. =< 11 R99 1K 100K © i REAR OUT % | YEL (FRONT)
b L Eront™y = d P3(BLK) o[z0
s I S g 3 R122 O 27k 1k |
2sC1317 Z S Q10 1|R-ch 10— Beo ')
— 3 l R & g 3‘ 8 100k © | ==y J
S 5 Q4 3 s 2 RED(RIGHT
P4 IMF%gﬂ:gsABM) D o e g . rL_'z a0 e
~ R103 g| = XE%LEA_EE e e | e aiss 2 J3(BLK) WHT(LEFT)
35 |._ 1 g il me gl G _H-o:; L-ch 40 T O )8
b = N elais A ool B 8 < | |
& S S e LREAR __ & e 3 Riz4 To J3 1l30 l YEL LINE OUTPUT
POWER : 5l % DRI 100K © - (REAR)
suPPLY L I for prevent;mg 25ch ation e A m et B | e
RED
i £ = E SWITCHING 10— @ 15
RED(RIGHT)
Fig. 3 (C24420231)
NOTES: 1. All capacitance in Micro farad, P=10712
2. All resistance in ohm, K=103
3. All inductance in henly, m=10"8, x=10"¢
4. DC voltage against the chassis measured with 100k ohm/volt meter, power supply set at +13.2 VDC, no signal

input.



WIRING UN Pc BUARD To J2(Refer to Fig.2) To J3(Refer to Fig.2)
e —N—

E 5 5 x5 = To Ji(Refer 1o Fig 2')I'o P4(Refer to Fig.2)
g :
MPC-1459A1/483 , ¢ §3 . ¢ o .
(- & 12 gty ook ey
L7722 4 s r‘f—-;"’-g-:'-\ P2 ANy P38 = z z
= 1 ! ! i < Q = ‘———]
o N BRSNS (BLK) r ) )
- K%E S N\ (B_h_ ) g + S T U 52 s J‘.-__Q-_.rll.l P1 18 =
O f o = ) e LERAS 2wl )
P = S NS © o Bl | TTTTNNE 19
x - x “.'% m% —+ ~+ € 53
-— "mn
wals S% TR of ©] Gt Y+ o 270p
NS S R81 1K ) o (14 = T U
&%m ﬂmw 100K RIQ 100K 30 07 <o L
~ —WA— —WA—
o« Q5
¢ E > JR118 100K R120 100KQB . E oo, .
x Q6 s s D NS Ny
©|© D Leke laQn XeNg NgX3N -
Pral \ &\ & o, o | Al &’%E%E 355 ‘A MPC459A(3/4)
ojs] 8, = sQ9 T Riz23 100k 25c644 ol
algl o - Qi2 2\ c48 220P c55 220 PL2
"y N% & Q5n12 25020 Bee il T g L 18 §
N )
&+ Z Ri2s jz0 ol -, FReTx 8+§ i
o a €36 <015 o R89 18K DI RDI3E 7
Ilx x x o X O o R88 18K %’" A Q4 -
| :%:% z% g%g %% %%gﬁ i B8 reojsk \zsciess veL
M. 8o e e o
©f I~ = N | T €32 .033 R73 27K
olal 8| 3 '*Tia Qlmle N c60
x @© N e S e S i RED
__________________ (D. N|O +
:."l*l e @Y e E"’%E% :%g i § o C?l,;??’ 13 14 15 16 17 18 19 20 21 22 220
! Njia| K& — C19 33
i Db BE By L (BT SeZn SEY
e |l O U x O nTiS = 9 -
ol 18 [ X ek ﬂTm o X c28 .068 Concenll " <3 o 8T+
0 cEEEos e U1 SO 90 e AN X ¥10]0 o x| ¥X|n|] O] ©O;© 0] X IR ] O
L [T o [+ 45 @& 0 fo s, o i e ¥ N.l. : o 518 J_O
i 3——\8 ¥ X Lo :r1 2 34 5 6 7)x g%gl& 5 gls & q.l.g_) @ QT'; Oids & AR &Y QTq @
A Qlo; 82,9 g, x|k i e x » x 0loTm] Sjele olz] glxT5ImIQTS 42 5.6
3 ol © ) \ — olo|wN X 0 ~lmlm < R42 506K
o f%%%g%g"'% N'Lg ﬁ% 1 }IC 4 pPCaTa1IC :2%,"; 2§T§28T2 serffsdds s 3 BORESE —we
9 o (28 O e SO O W e I T SN
yg  Eix E%%;ggUT"g: E‘IB:—|23456T}$q "2 345 6 7 Mg @S ET E
§ 68“’ 050100:8&,91 la 1312 1 10 9 8jly &l | elE 'L ; N
RO N RS, G @ © | S \
5 =gl ain alaly < n%f 1}1C3 wPCaTalC 1§ -] 1IC 2 ppcazaic | | |yiC1 wPCaTaIC
~ [ ° o
(8] < (] 1 | 0 | | r
T ++ T p g% 114 13 12 11 10 9 8/9 vlf: {14 13 12 11 10 9 8! 14 13 12 11 10 9 8
0 R e s = AT e R N O\ e N
i o) X o ° v QSN Xt b X
< ©y ST © = = ~
X Hiyig 8T #18T8 M[STel of ol slgh 2l oigls 43
______ A o~ ) —
v/ o = R o x'E!
(& ©IGE = o i ¥
| ’ St © ® 5+ 250Hz 125Hz  60Hz it
WIE‘ :t YEL ooy AE AL
5 :DEF a| of o of +H H ! _'J
[ i x| 4 x
FroNT IMPC-1459A e g ]
(@/4) (REAR | 13 14 15 16 17 18 19 20 21 22
s MPC:1459A(2/4) PR, | S s e ]
12 24 25 26 27 28 29 30 31 32
564 18 18] 10 11 12 SL ey N S el T St Ol RO e
® R o\g RED OGN BLK BKHz A4KHz 2KHz 1KHz SOOMz.
Rl 4
Aot S AN up
E e i) 6L-9onpe] - |
Diode’s high ? & D19 FRONT]
£ (sn . i, gl % i g, | i, fo i, fom 2, i g
20mm 1)
RI04 1K
X R105 1K x ¥ X b4 X x
o x o l x X X X X X X > o o o
=l 9ol RIO6 1K & S §‘ .é S g g »é o'l § il L8 8l LR i ey LR
QF o7 R107 1K 21 7 S A (R T O AN O A 21 L. 2 T
- = SRS o2 o= x
6L-9ND2 E| |2 4 l 2 \ g & } i ‘ g & ’ g & , — ‘ l ‘ Long Lead
£ il
(] £ 3
[}
IR T mEaml | g J f iy F . b
% 4‘: LR_;%%?J l 16KHz 8KHz 4KHz 2KHz 1KHz 500Hz 2501z 125Hz 60Hz RESISTOR
REAR GL- OND2 5 D10~18
020 D18 D17 & D16 4 Dt D13 % D12 % DN % DIO, %,
R116 820 (4 - 4 o ! D14 4'” 13 2 " o LN351GCPP
RIS 820 R114 820 RI13 820 Ri12 820 R111 820 RIO 820 R109 820 ,  RIOB 820 VOLUME
e e AR e VWA~ YWy VY YV
Long Lead
NOTE: Grounded pattern is separated into power stage (%) and pre stage (N\Y). When operating this set only, connect Fig. 4 (C27420231)

both grounded patterns.



	1
	2
	3
	4
	5
	6
	10001
	10002

